¢ 20~ ¢ 40

“ﬁiiiﬂﬁ?%?&ﬁﬁﬂﬁbﬁl Aceroren

e Bl S
RikEEZE

EiniEei 2t (i@ ASC..B

ASC

fre

TRAIREEE ASA

TRk 22 B (HeE) ASA..B

LEHy ASD
EEE AU (BB 1ED) ASD..B
ASN..N..@
EEHH O] A:25mm B:50mm ASN..N..
B ASN..B.A %@ ® Z2 M E BN F B R IE AT 22 SR G A > DU
..D.. 1 g F3 . B |~ $BFLER
T D s AN BE TR AT R
FEERER
22 i AL (mm) $20 | $25 | $32 | $40
BMEASE  (mm) % A500
T fF 14 28 B3 B P e 2 L U R R A ZE R,
iEME A S
0 B ) d W (MPa) 012103
FHRE®HE (C) -10~+60
5 (mm/sec) 3~300
YRS
ASN 32 1%5 ? ? ﬁA—-T—iN?1BX ?
l l
s — SE) N B
B PO e || zmoe || 22 B s | |
[ [ [ [ [ [
P 20— ¢ 20mm| | B:fEERE 25—25mm SCER IEER : 1: 148
g | [25— ¢ 25mm| | NEEE 50—50mm | [ A:5JZ25mm : FA P 2:2{#
ﬁi/ 32— ¢ 32mm 75—75mm || B:IE@50mm | | 3
__ssc 40— ¢ 40mm ggfggmﬁ EprTeE oH___Hp |FB LNO1B
s | it EEANETGRE 150—150mm o [
& i F e ‘
250—250mm
: ASA 300—300mm EEl:g:%cu LN48R
p it
P M 1. T3 FANPN&PNPAUT (B4R TN, » 24VDC) -
A7 asp Y| commmmnmmmns -
T 3 SBHRSA-1.2804-17 -
(] B2 1
7
-
& ASN el B
= B3 K




s 22 F Bk

SHE RS

Acerorex

¢ 20~ ¢ 40

U
@ssc 3o
L1
EE L ¢CD
‘\ L #D
1 il 5 /o =
w| /dl w | =
™% e 71
- 14
DF _ BF EW
AM WF G G EX
Z1+1712
XCHTR2
ZB+1718
]
@ rsaz o
214372 2
Fidl]
@ AsD s
K W h—
ZA+17FE
ZM+2x( 172
SRR
fI#X |AM| BE |BF|CD| D |DF| EE |EX|EW| G| KK |KU|KV|KX| L |L1[MM| NI |NJ |WF|XC|Zz1|zB|zm
520 | 20 [M22x1.5] 18| 830 6 | G1/8 | 27 | 16| 15 |M8x1.25 | 7|27 |14 | 12| 22| 8|15 |28.5| 24 | 95| 59 | 125|107
$25 | 22 [M22x15[20| 830| 8 | G1/8 | 27 | 16| 16 [M10x1.25] 9|27 |17 | 12|22 |10 [15 |28.5] 28 [104] 64 [136]120
$32 | 23 [M27x2.0[20 1038 8 | G1/8 [ 35| 20| 16 [M10x1.25] 10 |35 17 [ 15 | 27 [ 12 [19 [36.5] 28 [115] 72 [150] 128
$40 | 23 [M33x2.0[20 [10 [ 45| 8 | G1/8 | 42| 20| 16 [M14x 1.5 | 14 | 41| 22 | 15 | 27 | 16 |22.5/43.5] 28 [ 115] 72 [ 150] 128

AS
AN
A

AH
AP

MEEE



s w1 TR 22 T EBh &L Aceroren

¢ 20~ ¢ 40
R
@ ASN #Y n
A25mm ASNLIA

ML
KV 2-EE

‘/7 MS

i —()

W W 1

=
oM

A

\&

MB OMA

DF BF BG [t AA
AM WF Z1+{712 HA+{TTE
ZA+2x1312

BRI #R
% | AA | AM BE BF |[BG | DF | EE | HA KK KV [MA|MB| MI [ ML |MM | MS | WF | Z1 | ZA
$20 | 45 [ 20 [mM22x15[ 1825 6 [G1/8] 78 [Mex1.25 [ 27 [ 22| 8 [ 24 [43 ] 8 [ 3324 59 [181
25| 46 | 22 [M22x15]| 20 [ 25 | 8 [ G1/8 | 79 [M10x1.25] 27 [ 22 [ 8 | 24 [ 45 [ 10 [ 35 [ 28 | 64 [ 193
32| 46 | 23 [M27x2.0| 20 [ 25 | 8 [G1/8 | 79 [M10x1.25] 35 [ 27 [ 10 | 290 [ 45 [ 12 | 35 [ 28 | 72 [ 202
40 | 50 [ 23 [M33x2.0] 20 [ 25 | 8 [G1/8 | 83 [M14x15 [ 41 [ 32 [ 10 [ 35 [ 47 [ 16 [ 35 [ 28 | 72 [ 206
@ ASN #U
ASNLIB
B:50mm -
ML
KV 2-EE VS
1 1 (M)
i i *|
"EEE T ERS©)
s H Y
MB OMA
DF BF BG 8 AB
AM WF Z1+1778 HB+{772
ZB+2x{T12

SHE R &

Gl | AB | AM BE BF | BG| DF | EE | HB KK KV |MA |MB| MI (ML (MM | MS | WF | Z1 | ZB
$20 ]| 70 | 20 | M22x1.5| 18 | 25 G1/8 | 103 [M8x1.25 | 27 | 22 8 | 24 | 68 8 | 58 | 24 | 59 | 206
$25 | 71 | 22 | M22x1.5 | 20 | 25 G 1/8 | 104 IM10x1.25| 27 | 22 8 | 24 | 70 | 10 | 60 | 28 | 64 | 218
$32 | 71 | 23 | M27x2.0 | 20 | 25 G1/8 | 104 [IM10x1.25| 35 | 27 | 10 | 29 | 70 | 12 | 60 | 28 | 72 | 227
$40 | 75 | 23 | M33x2.0| 20 | 25 G1/8 | 108 |M14x1.5 | 41 [ 32 | 10 | 35 | 72 | 16 | 60 | 28 | 72 | 231

00|00 ||




¢20~¢40

ns (B 22 i {'F Bl L AC AEcerorex

LRI RS

@ FA(FB) #

HI ¢ 20~ ¢ 25 ‘ § n DSCIFA
»FB FAR FBE SN

Y Y R, |FIZ| E | FB | MF | R | TF | UF
S — H H FA-20] ¢20] 40 | 7 5 - |50 | 66
=FT:;;= =FT:)7=: FA-25| 25| 40 | 7 5 - [ 50 | 66
W win ¢
p\ A FA-32| $32| 45 7 5 20 | 60 80
(Q}r ES ! FA-40| ¢40] 50 | 9 5 | 30 | 80 | 100
= EM’E — S & AR |EE| W | ZF
D H H FA20| 20| 19 | 88
L L FA-25| ¢25| 23 | o7
E W_| | .MF MF. FA-32| 32| 235 [104.5
ZF+1312 FA-40 | $40| 23.5 |104.5
fIE 432 ¢40 FAZ FB &

¢FB

|
-

Wl W

AT [E1&E| AT | AU [ AX | FB | NH | SA
LB-20| »20| 5 17 25 7 25 35
MF MF LB-25| 25| 5 17 25 7 25 40
ZF+(F52 LB-32| 32| 5 20 30 7 35 42
LB-40| »40| 5 20 30 9 40 42
B |FIE[ SB | TR | US | XT | XS
LB-20| 20| 93 | 40 54 7 |36
=) LB-25| 425 98 40 54 11 40
. LB - 2-4FB LB-32| 32| 112 40 55 8 | 435

_:;ﬁ:f’,: :;ﬁ:‘;’,:— LB-40| 40| 112 50 75 8 | 43.5

E@ IR R o el

(& ey
o))
&
&
-

£

Py

m

L I
z | (N
111 111 [ 1] | 1]
TR ‘ |ax E
us XS SA+TI2_ | AU
XT SB+13712 n
1 DS[ICU
IR~ 3R
B [FIE| € | FB | H L(L1|Mm
CU20| 20| 20 | 7 | 30 | 32 | 6 16
@ CU Bl cu-25| 25| 20 | 7 | 30 | 32 | 6 16
M Cu-32[ 432| 25 | 7 | 40 | 40 | 75 | 20
cu40| 440] 25 [ 9 | 40 | 40 [ 75 | 20
win W % TN ﬂﬁ EI&T{ N 0 T XD
‘@ {} 2-¢FB CU-20] 420| 24 | 16 | 4 | o
I o | [cu25[ 25 24 | 16 | 4 | 100
- Cu-32| 432 28 | 20 | 4 | 110
| ANRE—— uma 4 Cu40] 440 28 | 20 | 4 | 110
XD+F12 | _c | of]
L1 N

2-14

MEEE



&1 284 22 Jeh {F i AC 4
o e S =X EROTEK
$20~$40
Ly
LRI YR F %
@ YHUEZEH (Fifdsh) BT, i€ [D | F | 6 KK T|lu|v
v ‘JJ*‘ Y-M8x1.25 |20 8 | 32 [ 42 [ mM8x125 | 16 8 | 16
Y-M10x1.25 | ¢25,$32| 10 | 40 | 52 | M10x1.25] 20 | 10 | 20
Y-M14x1.5 | $40 10 | 45 | 58 | M14x15 | 20 | 14 | 25
n B | EES
Y-M8x1.25 | YM08125
Y-M10x1.25| YM10125
Y-M14x15 | YM14150
SR %R
illsay i | D | F | 6 KK T|Uu| vV
I-M8x1.25 | 520 8 | 32 | 42 | M8x125 | 11 | 8 | 16
I-M10x1.25 | $25,$32] 10 | 40 | 52 | M10x1.25| 13 | 10 | 19
I-M14x1.5 |$40 10 | 45 | 57 | M14x15 | 13 | 14 | 254
n B | B
I-M8x1.25 | IM08125
1-M10x1.25 | IM10125
Fﬁ I-M14x1.5 | IM14150
SHE R~
[ B fIf |B|C|D|E|F|[G|J KK |sw
B G-M8x1.25 | 520 9 | 12| 8| 22|36 47| 17 | M8x1.25 | 14
G-M10x1.25 25, $32|10.5] 14 | 10 | 26 | 43 | 56 | 21 | M10x1.25 | 17
G-M14x1.5 | $40 13.5] 19 | 14 | 34 | 57 | 74 | 27 | M14x15 | 22
[a)
! n ET B
/= | o G-M8x1.25 | GM08125
w G-M10x1.25] GM10125
. G-M14x 1.5 | GM14150
KK
SMERST
s st
@ FEjEE IR s |A|B|c|D[E]F KK | U
KK BRI K-M8x1.25 |20 47 | 11 [ 19 |20 [145] 5 | M8x1.25 |0.75
‘\ K-M10x1.25]$25,432] 54 | 13 | 24 [255[145] 6 [ M10x1.25]1
‘ K-M14x1.5 |40 70 | 17 | 20 |31 |19 | 8 | M14x15 | 1.15
o) () _d=
a1 o ‘
i ;_4& - ! B fE2
> ~ | K-M8x1.25 | KM08125
E |F ‘B KK K-M10x1.25] KM10125
Y C K-M14x 1.5 | KM14150
— SR T R n
© [ 7E IRIE mx | mE | H ]| KK |sw B | EES
SN N-M8 x1.25 | 520 5 |M8x125 | 14 | [N-M8x1.25 | NM08125
N N-M10x1.25]$25,$32| 6 |M10x1.25| 17 | [N-M10x1.25] NM10125
{ ¥ N-M14x1.5 | $40 7 |M1ax15 | 22 | [N-M14x1.5 | NM14150
\ L/ N-M22x15 |$20,025] 6 |M22x15 | 27 | [N-M22x1.5 | NM22150
=~ N-M27x 2.0 | $32 8 |M27x2.0 | 35 | [N-M27x2.0 | NM27200
S ‘ H‘ N-M33x2.0 | 440 8 | M33x20 | 41 | [N-M33x2.0 | NM33200




ns (B 7Y 22 v/ E Eh &L Acerorex
¢ 20~ ¢ 40
g Rt
@ AS &
~ T
lisa]
D1
LN48R ‘ ‘
Fhhe—y S

T HEBHBE N <%
fiRES STHERARAALTY A B D E B | STEmRRn | R | A1 B1 D1 E1
¢ 20 LNO1B 25.5 39 7 22 @20 LN48R BS-S20 22 36 8 28
¢ 25 LNO1B 28.4 419 7 22 ¢ 25 LN48R BS-S25 24 38 8 28
@32 LNO1B 32 49.5 7 22 ¢ 32 LN48R BS-S32 28 46 8 28
$40 LNO1B 36.3 57.3 7 22 ¢ 40 LN48R BS-S40 32 53 8 28
EASEE g 25 mm BEASS /5 25 mm BEASS
e
i1 | cpg—ps | cogmmo | —oa—s SO ==
420 0.150 0.019 0.141 0.019 0.176
$25 0.190 0.027 0.185 0.027 0.236
¢ 32 0.323 0.040 0.313 0.040 0.385
¢ 40 0.495 0.059 0.482 0.059 0.610
=2
HER B 1kg
e 9 25 mm EAEE 5 25mm
B
225 mm w37 7F2 50 mm
¢ 20 0.275 0.029 0.337 0.029
¢ 25 0.377 0.043 0.473 0.043
$32 0.495 0.062 0.590 0.062
$40 0.788 0.098 0.927 0.098
HER E{: kg
FA FB LB cu Y 1 G K BINZIE | AUIEIRE
FrIREY ol N
“l©&@ |JL| B O | =m | e | ] [ © O
¢ 20 0.049 0.173 0.064 0.046 0.044 0.053 0.061 0.005 0.011
525 0.049 0173 0.064 0.088 0.080 0.080 0.113 0.008 0.011
$32 0.099 0.218 0.089 0.088 0.080 0.080 0.113 0.008 0.030
¢ 40 0.132 0.315 0.090 0.151 0.157 0.175 0.245 0.016 0.038

AS
AN
A

AH
AP

MEEE



AN ﬁgéﬁﬁlh?m{/ﬁﬁbﬂ 1ISO 6431

Acerorex

¢ 32~¢ 100

wEiEEn ANB =
T
wE ey AND ==
I WY ==
e ANN..N..A
#H SEITF2
LT 2 ANN.N..B =L
SHTHTE e AN 8 A, MBI ERERE MRS - L
A25mm B:30mm £ AL FNSTIBEHIHEE - TEAEYL - RARE
EHHEEMOSBE ©
FrEE R
EWAAE  (mm) 932 | 40 250 | ¢63 280 | 4100
s (mm) 155800 41200 542000
T {Ef5 a8 K3 B A I R B IR TS R R R
ALEME EASE
EREL#E (MPa) 0.1~1.03
HARERE (°C) -10~+60
HRAEEHHE (mm/sec) 3~300
LA
ANN 32 M 125 B 3 FA Y —LNO1AX 2
l l l l l l l l l l
2R S B R 1712 TAITRE |TRUE [ SEERRE %ﬂ%ﬁ%
[ [ [ [ [ [
32— ¢ 32mm| | M:pINIREIEREAE || 25— 25mm | | HEETsE AZE R 3 1:1(8
40— ¢ 40mm| | N: B 50—50mm M FA 202/
50— ¢ 50mm 75—75mm i _l
— 100—100mm| - — b &
A o 125 oo - LRSS =" —p] |F8 <
#11100— ¢ 100mm 150—150mm)| LNOTA: 6 32, 6 40533
red s o fro| (B
AND 250—250mm| 5
I 223732822 @ CA| 1 Z2mENPNSPNPRIZ (35S » 24VDC)
400—400mm)| 2. EERAEH BN REERN -
—450mm)| 3GEEIRN411 -
AN 500_soomn] =Is—PpFcB

2-21




N o 2 ah fE Bl &L

SHE RS

Acerorex

¢ 32~¢ 100

AS
AN

padll
® AN o I
2-EE
S 4-T N M
L
(@AB \
w § « ‘ﬁ% *unuau
4 -4+ o 1 — - \ JF
ERES xl }% @\%ﬂ ol ®
& )
& | &
KU Fl P P
D DF| BF G H+13%2 G
LE WF Z1+{712
AM ZB+{12 J
i}
@ AND £ nAND:]SD
RO — @ —— o
WF Z1+1712
AM ZM+2 X {318 AM
2Z+2 X178
NI E S
I |AM|BE|BF| D |[DF| E| EE [F |G [ H | J KK KUfMMM(N|P |Q|S| T|WF|21|ZB|ZM|ZZ
$32 | 22| 30|16 |325| 10| 47| G1/8| 7|26 | 42| 4 [M10x1.25/ 10| 9|12 |6 |13 |45| 6| M6 | 26 | 94|120(146|190
$40 | 24 [ 35|20 (38 [ 10| 53| G1/4| 9[30[45| 5 [M12x1.25{ 14| 9|16 |6 |15 |5 6| M6 | 30 [105][135]|165]213
$50 | 32 | 40 | 25 |46.5] 12| 65[G1/4| 11 [ 30|46 | 5 [M16x1.5 [ 17| 12|20 |6 | 15 |6 8| M8 | 37 [106]143| 180|244
$63 | 32| 45|25 |56.5| 12| 75|/ G3/8| 4|32 |57 |5 [M16x15 | 17| 12|20 |6 | 16 |8 8| M8 | 37 [121]|158| 195|259
80 | 40| 45|33(72 | 13| 95/ G3/8[ 15|38 |52 | 6 [M20x1.5 | 22|16 |25|6 |19|9 |10|M10| 46 | 128|174 (220|300
$100] 40 | 55 | 35|89 | 16 [115[/ G 1/2[ 15|40 | 58 | 6 [M20x1.5 | 22 | 16 |25 |6 |20 |7 |10 |M10| 51 | 138]189(240|320

2-2.2

A
AH
AP

MBS



¢ 32~¢ 100

N G 2= VEE &L Aceroren

B RS
@ ANN £ nANN 1sb

A:25mm ML
B:50mm MS

)
1

%)

&)

=9
)
@

|

DF| BF G| L_ G BF 312
AM WF H+{7#2
ZZ+2X {718

SHP R

pe N H ML
i€ | AM % B BF | DF | G A 5 | MA | MB | ME B A 5| WF =& B

$32 22 | 47 72 16 10 26 73 98 |27 10 29 47 72 35 60 26 | 215 | 240
$40 24 | 48 73 20 10 30 78 | 103 | 32 10 35 47 72 37 62 30 | 237 | 262
#50 32 | 52 77 25 12 30 92 | 117 |41 12 44 56 81 41 66 37 | 267 | 292
%63 32 | 52 77 25 12 32 92 | 117 |41 12 44 56 81 41 66 37 | 282 | 307
480 40 | 58 83 33 13 38 | 107 | 132 | 50.8 | 15 55 63 88 43 68 46 | 321 | 346
100 40 | 58 83 35 16 40 | 107 | 132 | 50.8 | 15 55 63 88 43 68 51 | 336 | 361

LARRCIF T
@ FA 2 - [iERE E

4-¢FB
- SR s R

! GIf€| E [FB|MF| R | TF | UF | W | ZF

@ @ 932 | 79| 7] 10| 64] 32 | 50| 16 | 108
] @7 ol | @%7777k@7 40 | 90| o9 [ 10 [ 72] 36 | 55| 20 [ 120
550 | 10| 9 | 12 | 90| 45 | 65| 25 | 123

@ ‘ @ :ﬂ $63 | 120 9 | 12 | 100 50 | 75| 25 | 138
$80 | 153 | 12 | 16 | 126 | 63 | 95| 30 | 150

& i 3 = #100[ 178 | 14 | 16 [ 150 | 75 | 115] 35 | 160

ZF+{312

@ FB & - (Rl e

4-4FB

YR B0 o

€| E [FB|MF| R | TF | UF | WF | ZF

$32 | 79 7110 64 | 32 50| 26 | 130
#40 | 90 9 | 10 72| 36 55| 30 | 145
#50 | 110 9 | 12 90 | 45 65| 37 | 155
$63 | 120 9 | 12 | 100 | 50 75| 37 | 170
80 | 153 | 12 | 16 | 126 | 63 95| 46 | 190
$100) 178 | 14 | 16 | 150 | 75 | 115 | 51 | 205

WF IMF|
ZF+3i2

2-2.3



Nﬁ.‘é’:é}w%%‘

REEIERT

I E B L AC

@ TC U - HililHED)

Acerorex

¢ 32~¢ 100

_BD _
DNLITC
‘ m F IMERSF R n
. T %= |BD|TD|TE|TL |TM|ZA |ZzB | zc | | AS
%ﬂmﬁﬁ@w < $32 | 22 | 12 | 58] 12 | 50| 63 | 83 | 73
%M “ VJ = - 40 | 28 | 16 70 | 16 63|74 | 91 | 825 | AN
. j‘? 50 | 32 | 16 | 85| 16 | 75|83 | 97 | 9
H T 63 | 35 | 20 [100 [ 20 | 90 [ 86.5[108.5] 97.5 AO
| zam | ‘ =] $80 | 40 | 20 | 120 | 20 | 110 [104 [116 |110
T zcvEER lo7o) 100 45 | 25 | 145 | 25 | 132 |113.5[126.5[120
28 T ‘ TE AH
R — — AP
@ CA B - 125 B HI[H E
#CD nDN CIcA
o o P SR~ 3
FFHEWW 1 H @I |[as[co o e [ew] L [T w2z
532 | 10 |325] 47| 26 | 22 | 10 | 10.5] 142
LEF‘E{_L ﬂ__ﬂ $40 | 12 [38 | 53] 28 | 25 | 10 [13 | 160
H $50 | 12 |465] 65| 32 | 27 | 11 |13 | 170
T EW $63 | 16 |565] 75| 40 | 32 | 11 |17 | 190
L |w b 80 | 16 |72 | 95| 50 | 36 | 15 |17 | 210
ZT+T2 Oe $100] 20 [89 [ 115] 60 | 41 | 15 |21 | 230
@ CB A - (5= E H[EE
#CD nDN mmfe:]
- — f_ IMERSF#R
(N L
FFHEW‘ ‘ :@ flfc|cb| D | E [EW|EY| L | T |W|2zT
) - — 32 [ 10 [325] 47 [ 26 | 45| 22 | 10 [10.5] 142
LH:E{_L LKJ_ 40 | 12 |38 | 53 | 28 | 52| 25 | 10 |13 | 160
u @ 50 | 12 |46.5] 65| 32 | 60| 27 | 11 [13 | 170
T ‘ EW ] 63 | 16 [56.5] 75| 40 | 70| 32 [ 11 [17 [ 190
L |w |._Lb 580 | 16 |72 | 95| 50 | 90 36 | 15 [17 | 210
| ZT+718 EY »100 20 [89 [115| 60 | 110| 41 | 15 [21 | 230
LE
@ LB A - il & E
ZT+H TR
‘ ‘ 2 ‘ ‘ SR % nDNDLB
T T
L il @ @ £I7% | AB| AH| AT |AU| AV [SA | TR|[UH| ZT
FFHEW f N 32| 7|32 5 | 24| 8|142] 32| 47] 144
1 4-9AB ,KJ— 240 | 9] 36| 5 | 28| 10 |161] 36 | 53] 163
= —B(‘ I ® &) 550 | 9] 45| 5 | 32| 10 [170| 45 | 65] 175
< (. 63 | 9|50 5 | 32| 10 |185] 50 | 75| 190
AV | AU AU AV | L TR $80 | 12 | 63| 6 | 41| 13 [210] 63 | 95] 215
SA+TI2 I - $100] 14 | 71 | 6 | 41 | 13 | 220] 75 | 115] 230

2-2.4



N Fn & 22 FERLAC Aerorex

¢ 32~¢ 100

BB R T ,
® Y B () A

U iy ke D F G KK T u v
r—*‘ Y-M10 x1.25( ¢ 32 10 40 52 M10x1.25| 20 10 20
Y-M12x1.25( ¢ 40 12 48 62 M12x1.25| 24 12 24
Y-M16x1.5 [450,463] 16 | 64| 83] M16x15 [ 32 | 16 | 32
T ﬁ Y-M20x1.5 [#80,4100] 20 | 80| 105] M20x15 | 40 | 20 | 40

n R B3

Y-M10x1.25| YM10125
Y-M12x1.25| YM12125
Y-M16x1.5 | YM16150
Y-M20x1.5 | YM20150

+———

3

@ T SRR

B T B|C|D|E F| G| J KK sSwW
G-M10x1.25| 4 32 10.5| 14 | 10 | 28 | 43 57| 20 | M10x1.25| 17
G-M12 x1.25| ¢ 40 12 16 | 12 | 30 | 50 65| 24 | M12x1.25 | 19
G-M16x1.5 | 450, 63|15 21|16 | 38 | 64 | 83| 33 | M16%x 1.5 22
G-M20x1.5 |¢80,4100{18 25| 20 | 46 | 77 | 100 | 40 | M20x 1.5 30

n BR | EED

G-M10x1.25| GM10125
G-M12x1.25| GM12125
G-M16x1.5 | GM16150
G-M20x1.5 | GM20150

T

[y ANE
@ 7l SIS
IR i | A|B|C|D]|E

KK EIEIRIE K-M10x1.25| ¢ 32 54| 13 | 24 [255]145

K-M12x1.25[ ¢ 40 70 17 [ 29 [31 [19

\ — K-M16x1.5 |450, 563 88| 21 | 27 [38 [29

) 1 K-M20x1.5 [$80,4100] 105 25 | 32 [50 [27.5] 1
S A

_ - n By | B

| K-M10x1.25] KM10125

E |F B KK K-M12x1.25| KM12125

K-M16x1.5 | KM16150
K-M20x1.5 | KM20150

m

KK U
M10x1.25| 1
M12x1.25]| 1.15
M16x1.5 | 1.65
M20x1.5 |2.15

o|o|~N|o

® [EciiE SIBRSTR
B I

KK SwW
KK N-M10x1.25| 432 M10x 1.25 17
N-M12x1.25] ¢ 40 M12x1.25 19

N-M16x 1.5 | 50, 563 M16x 1.5 24
‘ N N-M20x 1.5 | 80, 100 M20x 1.5 27
T n T e
N-M10x 1.25] NM10125

N-M12x1.25| NM12125
swW ‘ H N-M16x1.5 | NM16150

N-M20x1.5 | NM20150

w|o|~|o| T

2-2.5



N%éﬁ%‘

SHE RS

HITE B L

Acerorex

¢ 32~¢ 100

@ AN #

[ANNIMEE

LNOTA

=

A=

AS
AN
A

AH

THEBARE R %
G |WEBMET] A | B | C | D | E A ETiE 7=
532 LNOTA 263 | 27 32 |Max12L]| M4
540 LNOTA 29 | 32 32 |Max12L| M4 ANB SK 80
550 LNO2A 355 | 365 | 32 |M4x12L| M4
$63 LNO2A 20 | 43 32 |[Max12L] M4 _
580 LNO3A 495 | 52 32 |[Max12L| M4 fichaw KK
5100 LNO3A 575 | 62 32 |Max12L] M4
ﬁ%i"% B kg
& 25 mm BEAEE 2 25 mm EAEE 25 mm
I
= LT[ o T oo P e="
7 #7772 50 mm
532 0.56 0.056 0.62 0.078 0.86 0.078
%40 0.85 0.080 0.98 0.120 1.22 0.120
%50 122 0.117 1.46 0.179 ] 2.07 0.179
$63 1.72 0.128 1.96 0.189 2.26 0.189 251 0.189
#80 3.25 0.188 3.69 0.285 445 0.285 4.79 0.285
4100 4.28 0.220 4.87 0317 5.63 0.317 597 0.317
HER B4 kg
FA FB CA CcB LB TC Y G HHIWZIE SEERARA
fiARES T
| @ | & |8 [JL [ o | = |[es | o [N
532 0.224 0.225 0.197 0.170 0171 0.088 0.080 0.008 0.065
540 0.266 0.306 0.221 0.219 0.409 0.147 0.112 0.010 0.065
550 0.480 0.473 0.420 0.344 0.604 0.335 0.202 0.017 0.066
$63 0.602 0.743 0.600 0.405 1.023 0.335 0.202 0.017 0.066
%80 1424 1.366 1134 0.839 - 0.677 0.368 0.020 0.086
$100 | 1.974 2.156 1.795 1.045 5 0.677 0.368 0.020 0.086

2-2.6

AP

MBS



